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{4 Hours) [ Total Marks : 100
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N.B. Question Mo, 1 is compulsory. "

(1)
(2) Attempt any four questions from remaining guestions.
(3) Assume suitable dimensions wherever necessary.
(4) Use drawing sheet only.

1. (a) A vertical cone of base diameter 90 mm and 100 mm height has an axial triangular hole of 8
50 mm side cut through it one of the faces of the hole is parallel te VP and nearer toit.
Draw front view and top view showing curves of intersection.
(b) A pentagonal prism side of base 60 mm and height 100 mm'leng Is lying on the H.F. on 12
one of its pentagonal base, such that an edge of base is parallel to V.P. and nearer to it.
This prism is penetrated by horizontal cylinder of base diameter 70 mm and length 120 mm
such that the axis of both, prism and eylinder bisect each other at right angle, while the
plane containing the two axis is parallel to V.P. Draw the projections showing the curve of

intersection.

2. Figures shows assembly of “Marine engine connecting rod end”. Draw the following details as
stated ;—
(a) Coverend: (i) Sectional V.
(i) T.W

(b) Right Hand Bearing Brass : (i) Upper hall sectional EV.
(i) TV
(¢} Balt: {i) EM.

(i) LH.SW

e
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raris list
| Part No. Name Matl. [ Qty.
Redand F3
Cover end FS
Bearing brass GM
Balt M54 » 360 MS
hNut, ME4 MCS

1
2
3
4
5
& Cotfter MCS
7
B Leather packing
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Marine engine connacting rod end
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3. Figure shows the deails of “Non-return Valve™.
view i—
(a) Sectional FV. along section plane Y — Y. 10
(b) Sectional T.V. along section plane X — X. 10
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4 Paris list
Part No, Mama Matl [ Gty |
& = 1 Valva Dody Ci 1
2 Spindle Brass | 1
ip 3 Gland bush Brass 1
-2 $ § 4 Gland Brass | 1
7 @ b Velva Brass 1
l__ﬁ Valvs stop Brass “_,
i
%
a2 'ﬁ —
s 013 ¥ |
ke T et

Assemble all the parts and draw the following
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4. Figure shows the details of “Foot step bearing”. Assemble all the parts and draw the following

yiEw —

{a) Sectional Front View

' {b) Top View.
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51. Mo Mame Mail.
1 Body Cast lron
2 Bush Brass
3 [ise P Bronze
4 | Shaft Mild steal
5 Plin Mild steel
e
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5. Figure shows the assembly of “Union jeint” used for pipe of 50 mm bore.
Oraw the details as follow —

(a) Coupler (2) . () Upper half sectional F.V.
{i) LH.S.V.
(b) Coupler Nut (3) : (i) Upper Half sectional FV.
(i) L.H.B.V.
(¢) Coupler Bush (4) (i) Sectional FV.
(il R.H.5. view.
T 85
COLPLER ~) | 20 COUPLER MU',
R = (3)
- : CourlER BUSH _
" (A)
s L‘\\
o) -
a "
: ool w e
W <2z o
3| il e =
E . e
PIPE-A . = - v/
=
&) ol e

UNION JOINT

6. {a) Figure show front view, incomplete side view and partial auxiliary view of an object. Draw
the following view —
{iy Front view
(i} R.H.S: view
(i}  Top view.

NG LR

5 5



AEY o endliiad

:;E\_h{;_ {___W\\ N S m\ﬁ"{&&l \\ng} 1'%'{:- ';-- f Lr'\r

Con. 5295-CD-6633-07. )
(b) Draw two views of fast and loose pulley assembly, 6
{c) Show conventional representation of internal and external thread. 2
7. (a) Make neat free hand sketches of the following any two, in two view each :(— 10
(1Y Split muff coupling
{ii) Old ham coupling
(i) Knuckle joint.
(n) Calculate the maximum and minimum limits for both the shaft-and hole in the following :
Using the tables (Refer Tables) for tolerance and indicate the type of fit with sketches.
(i) 60 Hfd, 5
(i) ¢ 45 Hfr. 5
Ta'hle: i Fundamental tolerances of grades 01, 0 and 1 to 16 (values of tolerances in microns) (1 micren = 0,001 pim}
1 Ditimei}:r- Tolerance Grades
WSLEQE LT LT I — I !- | e
i; oo lwas 1 A | =2 5 Al | 9 |10 f 11 | a2 | 13 | 144 | 15 | 16
P [ il e 8 e I ) T 10 | 14 | 26 | 40 | 60 | 100 | 140 | 250 | 400 | 600
Over 3 'r | |
Toandine 6|04 |06 | 1 | 15 [256 | 4 5 { 8 | 12| 18 | ao |48 | 75 | 120 | 180 | 300 | 480 | 750 |
Civer B |
R Rpine 0o || ko | e | aEias | | 18 o | 16 | 22 | a8 | 58 | 96 | 160 | 220 | 360 | 580 | 900
Over 10 |
Toandine 18 (05 0B | 12| 2 1 3 5 | & | 11| 18 | 27 | 43 | 7o | 110 | 180 | 270 | 430 | 700 | 1100|
Qwer 18 |
roandine 30|06 | 1 |18 |95 | a | e | o |48 | 21 | 88 | 52 | 84 | 130 | 10 | 330 | 520 | 640 | 1360
Ower a0 3
Toandine 50|06 | 1 |16 | 26 | 4 7 | 12 | 16| 26 | 39 | s2 | 100 | 160 | 250 | 880 | 620 11000 1600
Ovar B0, % _|| {
To and ing (80 | 0.8 1.2 2 3 a A 13 19 31 46 T ‘| 120 | 190 | 300 ) 460 | 740 | 12000 1900

Table ; 9, Fundamental deviations for shafts of types & to zeof sizes upto S00mm

Fur!daménit}f devtalion in microns i {1 mi 0.0
s - pnicren = 0001 mm) |
Digmaeter [pper deoiation {ez) | ferdd; [
S v Lower deviation (e
JE
eV [ b & o e T B h m n B r &
e o All grades =5 i = i
— 05 | =fazoil Sader| =tEa | eml s adl | =g = 0 44 + 1 T R
a | IS o X I
L] f 2T 140 T - 30 =20 =10 -4 [H +4 | +B + 12 + 156 +: 15
B L0 — 280 | — 150 — B0 — 40 - 26 —13 —b 0 + & + 10 + 15 .l + 18 +2{-¥.
1@ 14 — 200 | =150 - O — 50 — 32 - 18 -6 0 =+ IT/2 +T + 12 + 18 + 23_ + 28
14 18 |
18 24 - E{_IL'I - 160 | =110 — B5 =40 =20 - 7 1] + 8 + 16 + 22 + ¢8 _+ 3_‘:
24 -| 30 i
13} 40 —310°| —170 | —120 | —EO | —B5O | —25 -9 o +3 + L + 26 ‘ Wl 4
40 ] =320 | = 180" [ <130 {
i =R |
50 65 | ~340°) =190 | =140 | —100 | —60 | —30 | —10 0 10 | 20 | e | gdr | g
¥
85 | B0 - 360 | — 200 | — 150 1l :
L 59 P e el (o 4 dy b B
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Table | 75 Fundumental deviationa for holes of types A tol . for pizes upto OO mm T .
.P'n.'u.Enn.-.-na'-c-.f_z-.l:mn'uh i) m:‘c'n;:u k5 a | L micron = ﬁ.WI )
_.E«;;_ Pl e f_fn-al:r;u:.llr::ifﬂn: ER : D - Flprer eleviations {ES)
adaged feeanee | e I T
\ | A -:zj r-J p | e| #|o|n] s .:r & P [ | g
vl . Mligmae o [ 7 | 5| 58 [>9 Tar
____: e » 270« 140 | +60 [ 420 |+ 24 J e [faz [ o ez | w4 | v6| o [ ] ) I ] s J
3 G| e e dan ] w70 | £a0 vap | 410 |+ 0 85 |« | #ao]=adw| —j-m| | -] —
T [ :md 160|480 :au__»,zs <13 |+5 | o ] e | R N BT B T %
b1 4 | + 280|450 | 05 +rv; +32|-+18 | +8 o %8 [+10| «18| 22 a | —J=18 ) —28 | -3 | — i
T | s | =12 ¥
—_— e man s 1 p= . — " el
1w | oz | s+ave|weofrin| s | a0 | w20 | 27 | 0 8 |w1z| s20(-24a|—|-22| 08 | -85 ]| — &
L | L . o |3
a0 | sy | e%10] «E70 |+az0 |+ 80 .|+.!|:| +258 | +8 | o +10 [+ 14 | 34— ra] — |38 | =8 | —4F | —48 8
A0 | Ao, “1}1_2—6 j:iau 4 130 T - L 0 — 4 g
i) 66 | w040 |0 190 |+ 140 [+ 100 €60 | 30 | £ 10 | O 18 | wag | ez8l-asa| — |- —a1 | =58 | —&B 1
|35_ B0 | #3680 |+ 200 l+ 160 —43 | -6 | =756 E




